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Instructions for the candidates :

1. Candidate must enter his / her
Question Booklet Serial No.
(10 Digits) in the OMR Answer
Sheet.

2. Candidates are required to give their
answers in their own words as far
as practicable,

3. Figures in the right hand margin
indicate full marks.

4. 15 minutes of extra time have been
allotted for the candidates to read
the questions carefully.

5. This question booklet is divided into
two sections — Section-A and
Section-B.
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Yvg - A / SECTION - A

’Eﬂijﬁl"ﬂ' UY'/ Objective Type Questions
gyT 95T 1% 70 7% & URF Wy & Wy 9w fwey By ny & frrd @ v aet 81

g grT g7 ME WAL [AweT Fh omnﬁwﬁr@?ﬁﬁrﬁ#fssmﬁwm%x

35x1=35

Question Nos. 1 to 70 have four options, out of which only one is correct. You have to

mark ybur selected option, on the OMR-Sheel. Answer any 35 questions.

35x1=38

.
1. ufwsR
(A) T Ht (B) R s
€ faerm w3 (D) ¥ ¥ &I T/
Echidna is . ,
(A) Con_nccting link (B) Vestigial organ
(C) Extinct link (D) None of these
2. SHEIE
() T SR (B) Heheuwd Wsmid
(C)  mufauwd gwfd (D) FH § SIS Tel
Dodo is
{A) Extinct species (B)-- Endangered species
- {C) Threatened species (D)  None of these
3. P d @ = Ga e e ?
(A)  3USTY] . (B)  yora
‘() FHIA (D) FH 4 Tt
Which of the following is a diploid structure ?
(A) Ovum (B) Endosperm
((i)’/ Zygote (D)  All of these
S Page 3 of 24
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a. ﬁwﬁﬁﬁﬂaﬁ‘l{ﬁﬁtg
gt (B) AT

(A)

(C) e (D) GRAEr

Which one is hydrophytic plant ?
(B) Opuntia

(A) Trapa
(21 Dalbergia (D) Acacia
5.  Weiel wifyreTd ardt A € .
() gEH (B) v A
(Ch KAL) L (D) - TFd -
Sertoli cells are found in
(A}~ Testis (B) Uterus
{C) Ovary (D)  Liver
6. T (o) T TURGE! ! €@ €
(A)] 44 + XX (B) 44 +XY
(C) 46 + XY (D) 46 + XX
Number of chromosomes in human being (male) is
(A) 44+ XX : (B}~ 44 + XY
(C) 46 + XY (D) 46 + XX
7. Tig1 3vaRvy feg o9 | swfem & 2
(A) W (B) ulvEw ame
(C) IR W D) FfErR
Rhino sanctuary is located in which state ?
_(AY” Assam (B) - West Bengal
(C) Uttar Pradesh (D) Bihar
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g,  w@EnE o g e

(A} CO, (B) H,

(C) CH, (D) T ¥ o

Biogas contains

(A) CO, {B) H,

(C) CHy, (D} All of these
9. wigT-3ieR fFa e d gt & 2

A)  dRRA (B)  WRIHEATEH

(C) G (D) SHEFEATER

[n which stage does crossing-over take place ?

(A) Leptotene (B) Cytokinesis

(C)  Pachytene (D) Diakinesis
10.  UoHiodiRo & frgept Wi &lelt & 2

(A} HIV & (B) & UM &

(C) &A= (D) &Y Fi

PCR is used to detect

(4)  HIv (B) TB.

(C)  Cholcra (D) Cancer

n. mﬁﬁawﬁrﬁmﬁwmaﬁmﬁlwmﬂm%

" -

(A) AT (B) WHEEEH
(€) =g (D) T Fah
Every living cell of plant can give rise to the whole plant. This property is
known as
(A) Cloning (B) Somaclonal
(C)  Totipotency (D) Al of these
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12, maw’rﬁqhﬁﬁ:mﬂﬂqqu’iaﬁqmmw% ?
2n

(B

(A) n
(C© 3n D) (A 3T (o) 3
What is the ploidy level of chromosomes in endosperm of angiospermic plant ?
(A) n B) 2n
(C) 3n (D)  both (A) and (C)
13, o/ dAty # IS TEE S BRI & &, O 9¢ FE A @
(A) T T @) TS =
(D) i FEam

©@ (A ¥R B) T

When offspring is formed by single parent, it is called as

(A) Sexual reproduction (B Asexual reproduction
(D) Internal fertilization

(C) Both (A) and (B)
14, WG GE & OEA # wa 49§l € 7

(A) 21 B) 23
(C) 44 (D) 46
What is the number of chromosomes present in human gameles ?
(A) 21 ABr 23
(C) 44 (D) 46

15. 3= HiEA @@ SR &t & ?
(A) T @ HEAq B) A @ U
(€ ¥ & TR (D) ¥ I B

What does opcron model represent ?
(B) Gene expression

(A)  Gene synthcsis
(€~ Gene regulation (D)  Gene function

Page 6 of 24
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'm Frer st o Bwgann quinr wrn s &

(A) T (B, W4
(c) A D) 3 @ @
Thalamus is cdible part in which of the following ?
(A} Annona (9].- Apple
(C) Orange (D) All of these
17, den fr o favaer s g @ o2
(A)  2tomE (B) TRf=EE
(C)  (A) AR (B) THI (D) ¥H q F13 5
DNA is genetic matcnal of
(A) ™V ' (B) Bacteriophage
(C) Both (A) and (B) (D) None of these
8. uiftufas &3 @) 3w g@e § w1 #1 yaw @ &
(A) TR : B) fafzeig
(C) ugiei (D) T F IR A
Flow of energy in food chain of an ccosystem is
(A)" " Unidirectional (B) Bidirectional
(C)  Multidirectional (D) None of these
19. P4 Q wm uw Mas ar =2d o
(A)  IARMFET B) dfaew ghifrfaa

(C)  Hetar (D) FEIIHaH

Which of the following is not a biofertilizer >
(A)  Azotobacter @l Bacillus thuringiensis

(C) Azolla (D) Clostridium

[ 119 | E [_[A}-‘JOU‘J-FZ{.lsn_ Page 7 of 24




-

20. &Y Un & d@wn a: fEEd srmoeam R 2

(A) ala (13) Bal

€ Wk (D) WTH

Tuberculosis is transmitted by

(A)- Water (B) Air

(C) Insect (D) Contact
21. 9 Roe srqgees Rfdfa § =5 fio s ¢ 2

(A} IER (B) &

(C) TnEH @) T/

Bio-reactors in optimal conditions produce

(A) Product (B) Organism

(C) Medium (D) All of these
22. WAWE I% T g € ?

(A) TTEA B) dH

c Tagh=a . (D) @\auH

Menstrual cycle occurs in

(A) Human (B) Monkey

(C) Chimpanzee (DL—All of these
23, fe@e fead wa o € ?

(A)  sfar | (B) GRTHIRIAA H

(C) (A) ¥R (B) 3 A (0) ¥ EFIL A

Binary fission occurs in

(A)  Amoeba (B)  Paramecium

(9,/ Both (A} and (B} [D] None of thesc

Page 8 of 24
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24, SN 3y o RN 18 2 7@t ofzfr o et @ e o

(A) 064 (B) 36
(C) - 85 (D) " 32
In a DNA moleccule, the cytosine is 18%, then the percentage of adenine will be
(A) 64 (B) 36
(C) 85 (D) 32

25. [ qfteror femaert qfez & faro famar wmen 2 9

(A) " B) ZITREE
(C) TZH D) &I
Widal test is donce to confirm

(A) Malaria J_B,p—« Typhoid
(C) AIDS (D) Cancer

6. HIV =1 F frw S ® smeEmor w2 ?
A) BT B) THEH
€) gdifaferas EFTF?W | (D) T-&R Fie=
HIV attacks on which of the following cells ?

(A)  B-cell -(BL_,_ T-cell

(C)  Epithelial cell (D)  T-helper cell
27. @Wﬁ#nﬁﬁwaﬁmﬁﬁf%&%ﬁé%
(A)  TeiA (B) I
(C)  UUSETE (D) TR
The substances to which an iImmune response is produced, are called
(A} Allergens (B)  Vaccines
(C)  Antibodics (D)  Antigens
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28. &S & RO fewer @ WET €

(A) Feeafm
(€ (A 3R B) IR

B) faA
D) T A EE T -

Chemical relcased duc to allergy is

(B) Serotonin
(D) None of these

B) W

(A) Histamine
(C) Both (Al and (B
25, Tt er 3 s @zln Tt >
(A) R IE2 TS |
(C)

(D) ¥I° 9 &

Aril is edible in which of the following fruits ?

(A) Myristica

(C) Annona

30. SO, S8 &I FIAF &

(A) Ve
(C) Ta®

Indicator of SO, pollution is

(A) Algac
(C) Fungi

31. YIS & 4807 HF HEt € 2

(A) TR AYEEGE!
(C) el qyaaEr

Honey is made by
(A)  Male honeybee

,,{C‘( Worker honeybee

1B) Litchi
(D) Al of these

L

(B) ©EHA
(D) W § ot
(B Lichen

D) All of these

(B) T AyHedE!
(D) . (A) ¥R (B) T

(B) Queen honeybec
(D) Both (A) and (B)

[ 119 ) E | (A}-9009-E@s))
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3.

33.

34.

35.

Fretiferer & w2 At offaf F 2 )

(A) & | ww

(C)  (A) AR (B) I D) THiEa

Which disease is found in hen ?

(A) Cholera (B) Smut

(C) Both (A) and (B) (D}— Ranikhet

Sell TE SR T e R et & wam & a e e ko

(A)  Sitam] (B) Saeidiasg

(€  fasoy (D) =

The flour of Idli and Dosa is made by the use of which microbe ?

(A) Bacteria (B) Lactobacillus
i D Yeast

(C) Virus ,.Lf)‘"”

TR Rt s fan strar &

(A) TR , B) W W

(C) TEFg (D) ™ 9 9 &
Agarose is extracted from .

(A) Maize (B) Sea weeds

Q) Cycas {D) None of these
AU Hiew et wefas e o ?

(A)  TECHA qT Y B) =

(C) W& qu A D) T FE 8
Operon model was proposed by

(A) Watson and Crick (B) Nirenberg

(C)  Jacob and Monad (D)  None of them

[119 | E (A)-9009-Eas)| . Page 11 of 24




B § @ 19 3 geTd d WA ST YU S € 2

36.
(A faeis B) URNISEE
(C)  WETEEH HITH ' (D) fgdasw F=®
Which one forms endosperm after fusion with male gamete ?
(A) ~ Oospores (B) Antipodals
(C)  Syncrgids (D)  Sccondary nucleus
37. U S S, gE W SIg % WIS 1 ga1 a1 ¥ 1 36 U I Fed € 2
(A) ufrefaw (B) it
(c) IR (D) T A T
Onc genc pair hides the effect of another gene pair. This phenomenon is
(A) Epistasis ' (B) Dominance
(C) Mutauon (D) None ol these
38. ZIEET AROAT § U W a9 @ SR T O 9 GevEEd RTAT SIS 4
VAT €, I FET FEAd & ?
A = (B) -8 FISH
(C) T=I-HEH (D) @HMA HigH
A scquence of three bases on tRNA which binds to mRNA codon is
(A) Tnplet (B) Non-sensec codon
(C) Anticodon (D}  Termination codon
30, gl dHIG S R F wEeicar A 91 FIA &, FEE FE 2

(3]

(A)  HIRTAIST (B) ¥TEI]
) fsTey (D) &
The group of Wuchereria bancrofti which causes filaria in human being is

(A)  Protozoa (B) Bacteria

(C) Virus _J_[’)L,,-Hclminlh

Page 12 of 24
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40.  AfuF EFR T A I T B 3 7Ry R vl A ¥ 2
(A)  HHII B TFd
(C)  TAF (D) IEEE
Which organ of the body is most affected by excessive intake of alcohol ?
(A) Lungs _ABr— Liver
tC] Splccn (D) Stomach
41. Wed % 9 & TH AERE €
(A) wifaer . (B) I &l &
(C) W= (D) AT IFUHEA
An cxception of Mendel's law is
(A) Dominance (B) Purity of gamete
(C) Linkage 19)_'_,_1ndepcndcnt assortment
42. A8 @ o= 9w daf@ g 2
(A) TARTS (B) &
(C)  weltea (0 fowfew
Which of the following is a sexually transmitted disease ?°
(A)  Typhoid - {B) Cholera
(C)  Malaria ’B/Syphilis
43. 17 ¥ F Hewed dg ¥
A g B) =i
(© (A 3R (B) A D) &Rl
Which of the following is/are insectivorous plant(s) ?
(A} Drosera (B) Nepenthes
(C)  Both (A) and (B) (D)  Hydrnilla

[119 | E (A)-9009-Eas)
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44 T v @ whw wamtErh ol @ 2

A) T @ €

© (A 3R @ o  &gan

Out of the following which onc is hermaphrodite organism ?
(A) Hen (B) Snake

(C)  Both {A) and (B °  (D)—Earthworm

45. FH E=IITE ?
A I ® e
() v (D) T&A Hae WeH

Chlorella is a type of

(A) Algac (B) Bactena
{C) Protozoa (D) Single cell protein
46. ‘F-FR TeEs A few A S AU g 2
A} TS () Y4
© ¥= D) T
‘Cry-genc’ prevents which crop from bollworm ?
th B) Tea
(C) Mango (D) Wheat
47 FEdddumuidsmagEagt ?
A) TEA 3R wwerEE B WReEE R griEd
(€ UEHA IR HAA (D) ¥ @ W T

Purinc bascs of DNA arc
(A Adenine and Cytosine
C) Adcnine and Guanine

(B}~ Cytosine and Thymine
(D)  None of these
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8. FmEansmnadm o

(A} FE] BT (B) =R ZRI

(©  (A) 3R (B) 3 D) TH § wR A

Cancer is causced by

(A) Bactceria (B) ncogenes

(C) Both (A) and (B) (D)  None of these
49. I U 0 T EWT ¥ ?

(A) H¢ ifiTeh ST M (B) #.::’-35 FECE

() (A) 3R (B) I (D) 38§ H13 T4

Which one of the following is possible in micropropagation ?

(A) Ascxual reproduction (B) Sexual reproduction

(C) Both (A) and (B) (D) None of these

50. 3RUAT & gifdafe & gy s ®

A e e aahe (B) TIFHA @ TIHR
(€ Wi v i (D) OEEA T e

Pyrimidines present in RNA are
(A) Cytosine and Thymine (B)
'(Ql—'- Cytosine and Uracil (D)

Adenine and Guanine

Thymine and Uracil

51.  ZIUet G Ot w1 I foren ford 9 @i & 2

(a)  fewdfn B R
(C) IAFEE (D) W
Triple antigen vaccine is not used for

(A) Diphtheria (B) Pertusis
,(.91* - Typhoid (D) Tetanus

[ 119 ] E [(A)-9009-Eqs, Page 15 of 24




52. g dwmdhesa R t?
FARIRAR A

Ay fres (B)
(C) A IS (D) TR
Which of the following is not a greenhouse gas ?
{A) Mcthane (B)  Chlorofluorocarbon
(C) CO, ' (D" Nitrogen
53. @ Ut 3o ufag ¥

a) fufedt & form : (8 el & feaw
) 1w & few (D) ufgus & fem
Kanha National Park is famous for '
(A) Birds By~ Tigers

(D)  Crocodiles

(C) Rhinoccros

frer §f #17 AER @ H FH T & 2

54,
(B) @&, ME AR 9@

(D) O, "Ee 3R Fw

(A)

() oI, T IR IR

Which of the following is the correct food chain ?
(B) Goat, Cow and Grass

Grass, Wheat and Mango
Grass, Fish and Goat

(A)

/(9}/‘ Grass, Goat and Lion
55. Hferarans €

(A) IR + TF A geh 98 (B)
(C) AT qb a9 + I

Nuclcosidce is
'Jﬂl/Sugar + a nitrogenous base
Nitrogenous basc + Phosphate

(D)

D) ¥ A FIE T

(B)  Sugar + Phosphate

(C) (D)  Nonc of these

Page 16 of 24
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wn
ol

57.

S8.

9.

e fmin &) we B

(a) iR @) R

(€ wWRAEY (D) T A w6
The process of formation of gamctes is called
[A}""'"Einmctogcncsis (B) Cytokinesis

(C) . Sporogencsis (D) None of these
=1 3t @ sl ey @ @9 et < @t & 2

(A) T : (B) ¥

€ Fewlfrar (D) Mfaee

Which of the following is not a viral discase ?

(A) Mumps (B) Influenza

(¢}  Diphthcria (D) Measles
trtferfaa ® @ ayprem F it T8 & ?

(A} AYHEE 9 (B) TP Ul

(C)  Tewr) (D) @R TR
Which of the following is not included in animal husbandry ?
(A) Bee-keeping (B}  Poultry farming
(C)  Fish farming (Dl. Organic farming
Pt o forern i mrmaiaieisn 4 i & -

(A} RH 9w (B) o o arzws
C) VH &ew (D) 1@ FF
Who among the following is not related with microbiology ?
(A) Louis Pasteur (B) J. D. Watson
(C) Stephan Hales (D) Rabert Koch
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60. UrEREw fEwd o@ wA R ?

(A) TE-¥EOC R @3 2T H
(€ ¥R-dmER R o) A w @
Anticodons are found in
(A) m-RNA B) t-RNA
(C) r-RNA ) (D)  Nonc of these
61 uzA 3 yiawem Fw
(A) FEo=S w == (B) Wﬁaﬁ"m &1 Ao
€ (a4 % BT D) T @ T

Mendcl proposed

(A) Law of inkage (B Law of inheritance

(C}) Both (A! and (B) (D)  Nonc of these

62. TEEECT ¥ =g = T EEAE ?
(A) wwTEE & oS B) @A IEgE H AN
€ TEE w W & (D) T @E T

Law of segregation is also known as

(A) Law of dominance (B) Law of independent assortment
p/ Law of purnity of gametes (D) None of these
63. T wAAE & A @ Seeayy FRE €
(A) WA (B) @@
(c faem D) Ftar fafaaar
Which of the following factors is important in the formation of new specics ?
(A) Compctition (B) Mutation
(C) Isolation (D)  Continuous variation
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64. Y&V R
(A) Ry B) IEETA
() @R (D) A
Restriction cnzymes are
(A) Exonuclcase (B} Endonuclcase
() Ligase (D) Polymerase
65. WM I H qOAT YEA F A 2
(A) I T (B) ®IEFTH
() urfeafast & F1 (D) (A} 7 (B) T i
In National Park, protcction is provided to
(A) Flora (B) Fauna
(C) Ecosystem (D) Both (A) and (B}
66. fgdus s fHay gaa § 2
(A)  ITRH (B) WEERI
(C) wEER (D) T8 I =3 T
Secondary productivity is related to
- (A) Producers (B) Herbivores
(C) Carnivores (D) None of these
67. UWERRYE ¥ M wd ¥
Ay HEe qU & B fFE @ = A 1000 F IR
(€) Ferdt it a@ 1 70°Cc W D) TH G I T
Pasteurization is heating of
(A) milk only (B) any liquid above 100°C
(C) any liquid at 70°C (D) none of these
[ 119 | E | (A)-9009-Eqs Page 19 of 24




Oy,

6o

qonhea otk

(A) UE-TA0W
¢y e
The wall of pollen gram s
{A) Qingic lavered
i) Tripke lavered
£ ' b
R el BT AN R L Sy F
. = e
iﬁ] - e . ®a
(€ =ImE R
T-lymphonyte onginsies from
W/ Bone marrow
iCl Thymus
EcoRl TFTT 51 &7 7
{A) Bam H]
. wdve s
(C) {A] =Hi¢ B A

Source of EcoR] cnzyme is
(A) Bam HI

(C)  Both (A) and (B

q  faws

S I i

{B) Double layered
(D) Multi-laycred
B WE

(D) FFAH

(B) Stomach

(D)  Liver

(B) E.coli

(D) Hindl11l1

B~ E.col

(D} Hindl11

[ 119 | E [(A)-9009-Ens)]
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™Y - W / SECTION - B
r-rq?wﬁ'am/shon Answer Type Questions
Wyt Gwar 1 ®/ 20 g Iera & ) (T 10 weAt & Iwv F 0 onddE & fav 2 siw
Frutfia # : | 10x2=20

Question Nos. 1 to 20 are Short Answer Type. Answer any 10 questions. Each question

carries 2 marks : 10> 2=20

1. dza B gwem & FE0 B e 2
Write rcasons for success of Mendel.

2. g 3R wiawdw @1 ofomfra w1 2
Define Coupling and Repulsion.

3. FoUHoafo W WHIT Tt | | 2
Throw light on G.M.O.

4 A IINW F I FR W @S Td TR fag a= 2
Draw a neat and well labelled diagram of transverse section of human ovary.

5.  Iohiget & ZHROTHT #T S0 FF 2
Describe the ill effects of alcohol.(,-'“'

6. <A AR W weTe Tt

2
Comment on Innate immunity/"
L] 1 A
7. wrEAe foe) fed wed £ ) 2

What is test-tube baby ? -

[ 119 ] E | (A)-9009-Eqs Page 21 of 24




9.

10.

11,

12.

13.

15.

ey I & witfdas 3FE ® w1 w4
Describe the ccological adaptation of xcrophytic plania.

sififaatan wat b 7 TEE €OF w1 A e v g8 I &
s ? Name it causal organism and describe the symptoms of

ot ST AORA U 2

AWhat is Amocbiasi

&
this discasc
2

Ter wn & 7 TE PR 1 T avlR
What arc allergics ? Descnibe its symptoms in bricf.
AT w2

What is inbreeding ?

 wemdrFees ferpm W v I

Throw Lght on Khncfelter's syndrome,-
DNA FaFfa & fem sravcwE e O e & W fod @ Ew & R @

fafre &% w1 gvs w1 2
Namec any two enzymes required for DNA replication and mention onc specific
funcuon of cach of them.

et wa & 2 379 o SRTORW & IRA S g aM @ & 2 2

What is micropropagation ? What are the main advantages of producing plants
through this technique ?
& wiwlas wfafee (sfaen) s @ amiea fox )

Draw a ncat labelled diagram of a typical antibody.
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V6. APfpnn drzatz w0 2 9 w1 WA A TH D FEEE w AW o T

Frrgitren feaed 2

What is biadiversity hotspot ? Write down the names and specialitics of (wo

such hotspats of India.

17, W@ i ZRifar wr ot &1 2
Describe transcription in brief”

18, mmﬁﬁ(ﬁﬁ:maﬁ)wﬁwfmwwh 2
Explain Biopiracy in brief.

19. 6 & &4 ) ford 2
Write the functions of blood. .

20.  Teitae Ao A ¥ 2 e s @ v 2

What is global warming ? Explain its effects.
—

aﬁmm/hngm‘wﬁw Questions

5wﬁuﬁwérmmzzowﬁﬁﬁ#aﬁw 3xS5=15

Question Nos. 21 to 26 are Long Answer Type Questions. Answer any 3 questions. Each

question carries 5 marks. Give your answer in abou? 120 words. 3IxS5=]5

21. ma‘aﬁawqaﬁﬁuﬁ-réh

S

Wrilc an ¢ssay on tissue culture,
22, it Ot F e W B vt w5t 5

Describe fertilization in flowering plants.
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23. fiftar Sue qeter o Wit aols &t
Describe recombinant DNA technology in bricf,
24. WA FEON & WY a9 R frofret o avm w1
I'.I‘ﬁ‘t;gcribe three ecological pyramids with suitable examples.
25. IR ¥ m PR ) fafir faft 9 e w0
g ;']';’);écuss various methods of contraception for the population control.
26. T e 17 2 SIS Bl e QUR F gwe) g add |

What is pisciculture ? Mention its role in enrichment of our food.
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